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1. H 9@ f(2), R ¢(@) GRR r(2).
1) f(z) =2*—82*—a—1 g(z) =322 —2z+1

802 —22+1|2*— 8 22— w—1 %x—_g_
2 1
S 122
o’ —3 2+ 3%

—%x"’ %x— 1

7, T4

T8N AT ES

26, 2

9 9

. 1 vegl L e
q(z) 32 2 gy i

?—2+2 | o* = 9p LB | adsa—1

ot — 2+ 222
2®*—222—22+5
*— 22+ 2

— 2*—42+b
— 2’ 2—2
—bx+17

g(@)=2*+2z—1, r(z)=—5zx+T7,
2. m, p, g EAHAKER, H
1) &*+ma—1|2*+pz+q
. i P+ pr+q= (@®+ma—1) (x+1)
P+ pr+g=2%+ (m+1)a*+ (mt—1)z—1t
m+t=0, mi—1l=p qg=-—t
m, p, ¢ R g=m, p=-—m'—1,
2) ®+ma+1|2*+p2*+¢q
. ik o*+p+g= (P +ma+1) (&P +ka+1)
a*+p2?+g=a*+ (m+k) 2+ L+ 1+ km)2? + (b+ml) o+



Aty
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8. HEGABRERE ¢(@) 5RK r(2):

m4-k=0

m(g—1) =0
1+i+km=0p —(ql )
b+ml=0 g "

| p=1+qg—m
g=1

m=0, p=1+¢q
=R g=1, p=2-m
1) f(z) =22°—ba*—82  g(x) =2+3, ‘
z+3| 22° —ba® —8x 20 — 6a° + 1322 — 3921109
2a° + 6a*
—62* —ba?® —8z
—62*—184
1823 —8
182°+ 3922
—38922— 8z
—3892®— 117w
109z
1092+ 327
—327
s q(@) = +2a* —64°+ 134 — 392+ 109
r(z) =—3827,
2) f(@)=2*—a’—2, g(@)=2-1+2
1% z2—1+2i | 2®—a’—2 2 — 2tz — (b+24)
2®— (1—24) 22
—2i0®—a
—2i0?+ (44-20)x
— (5+2d)e
— (5+2i)z+9—8i
—9+84
s, q(@) =a®—2iw— (B+26), r(x)=—9+8i,

- 1B f (@) R o — 2o K TTFEM, BIRIK

6o+01(2—a0) +02(B—20)*+ -+ KR
1) f(z) =a® o=1
. f@)=a°=[(z—1)+1]°
=1+4+5(@—1)+10(e—1)2+10(z—1)3+b5(@—1)*+ (z—1)°
2) f(z)=2*—222+3 To=—2
. f(z)=2*—22°+3=[(2+2)—2]*—2[(¢+2) —2]%+3
= (2+2)*—8(z+2)*+24(+2)>— 82 (¢ +2)+16 — 2(x+ 2)*+ 8(z+-2)--8 + 3
= (@+2)*—8(2+2)*+22(2+2)2— 24 (z+2) +11,



—8(z+4) +3i+T7+14
= (z+8)*—2i(e+19)%— (1 +4) (e+%)2*—b(ew+i) +T7+bi
. Rf@) 5 gl@)MBRARK:
1) f(z) =a*+2*—82®—4da—1 g(@)=2*+22—2—1
—%m+—i— P+ a?— -1 | o*+2°—80%—4da—1 |0
w8+—g~w’+%~x attat— a? — o
2 .
——‘;—- —%a;—l —22°—32—1 g
2
——';— —%—m——} —20%— 2
8.8 AL
4 4 =Sl
0
(f(@), 9(2)) =2+1,
2) f(a) =a*—4a%+1 g(@) =2*—82%+1
~L 430 | w82 41 |at—do? 41
2
z® -né—- —-g—)- @ ot —8a® +2z
——13—O-w’+-§7 z+1 —. & -z +1
— 130 @ —-%)-a: 2;) — 2%+ 3a? —1
ig—x-—-%— —822— & +2
881
-—3{6’-{-36—0;
4
——1%54&2
49 539
~16° 256
27
~ 2566

8) f(a) =a*+2ia®— (1+‘i):z;"’—3w+7+7§

. f(@)=[(a+9) —8]*+2i[(z+%) —3]3— A +8) [(a+8)—4]* -

—8[(w+8)—4] +T+é

= (@46)*— 46 (@ +3) 3+ 62 (04 ) 2— 4% (@-+ ) + 84+ 20 (o+6) *— 612 2+ 1) 2

S (f(@), g(@)) =1,

+ 607 (5+5) — 204 — (1+8) (2+48)?+ 26 (1 +3) (w+5) — (1+8)3?

2. 44
~ 1672856



8) f(z)=2*—1022+1

g(@)=2*—4~2 25+ 622+4~/22+1

i ® Lo ML T(8-1) o § A4 T P67 4 Ta+1]1
2z 2
a2 —24/ 2 22— 22 zt —1022 +1
202 22 —922  +1 — 4T B +1622 4422 |4V 2%
24/ 2 28— 82 ~IND — 4/ 2 2P+ 1622 +4/ 22
— 2?42/ 2 2+1 0

1) f(@) =a*+2a*—a?—45—2

(f@), 9(2))=2"—2+22-1,
.« Rul@), v(@)ff u(@)f (@) +v(@)g(@) = (f(2), 9(2)):

g(@) =o*+a*— 2" —20—2,

¢:1(z) =1 2*+22°—2?—42—2 | 2*+2*—2?—20—2 | 2+1=¢a(2)
o+ 2*—a?—20—2 | ot — 227
@) =2|r@=2* —2 P +2?—25—2
z? —2z 2® —2z
' 0 ra(z) =2° —2

(f@), 9(@)) =2’ =2=g(2) — (s+ 1) r1(2) =g (2) — (2+1) (f (2) —9(2))

=—(2+1)f (@) + (2+2) g(2)
v(z) =2+2,

"o (@) = — (@F1),
2) f(2) =42*—22°—162%+52+9

9(x) =22°—a?—bz+4

—%z+%—=q,(m) 20°— 2?—Bx+4 | 4a*—22°—162°+52+9 | 22=q,(2)
20°+ 2°—3x 4z* — 202 — 1022+ 82
9 —22°—20+4| ry(2)= — 62°—32+9 | 62+9
—202— x+3 — 62°+62
ro(@) = —a+1 —92+9
—92+9
0

F@), 9@) =a—1=—r @) =—[9@ —(— 2o+ 1)@ ]
—(— g2+ 5 ) [f @ —229@)] ~ g (a)

3 3

~(—5o+ )@ +(2 - Ze-1)9®

3 3
u(w)=—%—w+%, v(w)=%z’——§x—l,
3) f(2) =a*—a®—4a?+4a+1 g(2)=2—2—1
1. g2(@) =a+1 | 2®— 2—1|a*—2*—4a?+42+1| 2*—8=0¢, (@)
2 — 2 2t —a®—a?
z—1 —32%+42+1
z—2 —322+32+3
ri(@)= a—2



(f@), g@)=1
1=g(2) — (@+1)ri(2) = g9(@) ~ (2+1) [f (@) — (2*—8)g(2)]
== (z+1)f (@) + (@®+2*— 32— 2) g(a)
Cooul@)=—(z+1), wv(@)=2*+2>—30—2,
7. & f(@) =2+ (A +#)a*+22+2u  g(z) =2®+iz+u WBRAAERXNE—INZRL TR,
K, whyfE.,
f# B (F@), g@)=d@) 2@d@))=2
() |f (@), d(@)|g (@)
. 4@ | [f@) —g@)]
f@)—g@)=>0A+t)2>+ (2—t)o+u
(1+1)2*+ Q2—t)o+u MEBRKABERXM 1+
A+1¢) [2*+ A+ 1) 2’ + 20+ 2u] = (o+a) [(1+ 1) 2*+ 2—t)z+u]
@A+2)a®+ A+ )%+ 21 +E) s+ 2u(1+ 1)
= {1+t)2*+ [a(@+2) + 2—t)]2°+ [u+a(2—1t)]o+ ua
A+ 2=a@+t)+2—1¢
2(1+1t)=u+a(2—1)
2u(1+1) =ua
H@u=08a=2(141)
Ma=214+)RAN D
2A+#)2— (A +2)2+2—¢=0,*+1+3=0 XEATREW
oaF2@+)Mu=0
a@=1)=20+%) RAD
A+H)2@—-t)=21+t)*+ 2—1)2
$3+4+842—8t+4=0 (t+4) #*—t+1)=0
S t=—4, u=0, : ; ,
8. EH: MEd(@)|f(2),d()|g@) Hd@)R ()5 g@)H—1HE, Bad@) R f(2)
Ml g@W—ABRRAEK.

® e e

i # d(2) =u(@)f (@) +v (@) g (@)
r(@)h f (@), g@)E—AHERK
Cr@|fl@) o r(@) |u(e)f (@)
or(z) | g(@) Soor(@) |v(@)g @)

Ml (@) | (w(@)f @)+ () g () B 7 (&) |d (@)

@) = (f@), 9@)).

9. EW. (fF@h(&), g@h@)=(f(@), 9@)h(&), (h@) EHRHN 1).
E 1 #® (f @), 9@)) =d(@)
i@) |f @), d@)|g()
d@h@) |f @h &), d@)h@) |g@h@)
. d@h@) | (F@h@), 9@h@)) @
2. % (F@h@), g@)h(@)) =g (@)



¢(@) | f(@h (@), ¢(@)|g(2)h(a)
©d@) = (f(@), 9(@))
L OBEu@), 0@)  d@)=u@)f(@) +v(@)g()
- d@)h(@) =u@) [f(@)h(@)]+2(2) [g(@)h(2)]
" g@ [ f@h@)  g@) |g@h(e) '
s ¢(@) |d(@)h(z) (&)
ZaM @) (f@hr@), g@r@) =@, g@)h@).
10. MR f (@), 9@ ALHF, LM

(o L@ @ )y
G@), 9@ T@), 9@)
i #7E u(@), v(@)

u(2)f (@) +v(2)g(@) = (f(2), ¢())

o) 0@

n O 7w, s@5 T OTw), v
f (@) g(x) L

4 (7@ 5@y 7@, 5@y~ -

H u(@)f (@) +v(2)g(@) = (f(2), 9(@))
A4, (u(@), v(@)) =1
i B (f@), 9(@)) =d(@)
y f (@) =d(2) (@)

9 (@) =d(2) ¢ (2)
R LK w(@) @ (2)d(@) +v (@) Y (2)d(2) =d(2)
¢ (@)u(@) +¢(2)v(a) =1
(u(2), v()) =1,

12. jEH. R (f(@), 9(@) =1, (f(a), h(®))=1
YRR (f@), g(@)h(z))=1
iE: " (f@), 9@)=1 .. FEwu@) ulb)
i (@) f (@) +v1(2)g (@) =1

FIEAFLE ua(2), va(@) i ua(2)f () +va(0)h(2) =1
| (w1 (@) f (@) +v1(2) 9(2) ) (u2(@) f (2) +va(@) h(2)) =1
(1 (2) ta (@) f (2) +tha (2) v1(2) g () + 1 (@) a2 (@) 2 (2) 1 f (%)
+ [v1 (@) va(@)] [g (@) h(x)] =1
£ u(e) =w@u(@)f (@) +u:(2)v:(2) g (@) +us () vs(2) h (2)
(%) =v1(2)v2(2)
i u(@)f (@) +v (@) (g@)h(2)) =1
(f@), g@)h(@)) =1,
18. & f1(@), -, fn(@), 91(®@), -, ga(@) #RZ W1 H.
(fi@), gs@)) =1 (=1, 2; -, m; =1, 2, -+, m)
RiE: (f1(@)fa(@) - fm(@), 91(2)g2(@) gu(2)) =1.
e 6 o



.=1} 2’ T
i, S % (@), 0@) -1 il

ny (fi(@), 91(2)92(@)---gu(@)) =1
HE 1298 # (file), g1(@) =1, (fi(x), g2(@)) =1
) (fil@), g1(@)g2(x)) =1

ULBA n=2 B}, BRI
Ep% (f‘(éb), g!(x))=1 j=1) 255y k

Il (fi(@), g1(@)--gu(@)) =1
Won=Fk+1 B}
HF (fi@), gr(@)) =1
R R4 {8 % (fi(@), g1(@)+++--gs(@)) =1
Bp 4% (fi(@), g1(@)--+-- g_n(w)gm(w)) =1
FRBE - (@), 1@ ega(@) =1
RIBER Fo () 05 403 B B 75,

(f1(@) - fm(@), g1(@)++++-gu(@)) =1,
4. W MRG@), 9@) =1, B&L(f@g@), f@) +9@) =1,
i #% (f@)g(@), f(@)+9()) =d (@) i

Bp i@ f@9@ X v (f@), 9@) =1

FRUE di(@) |f @) 5 da(@) | 9 (@) K d1 (@) da(2) =d (@) .
X d@) |f@+9@), . di(@) |f @) +9@). <. di(2)|g@). Mdile)=1, R
B da(2) =1, W d(2) =ds (@) (2) =1, . W (f @) 9 (@), f (@) +9()) =1,
16. SRE TR 0" — 1 755 B0 el Py FIPE S 30905 B i o4,
. ESGEE N L n KOTRK

SR R .
ic e —g.
o' —1= (2—1) (0—&) (@—e?) - (w—e~T)
ELHHERN. U o HEH '
85", e Hiav 2 e a,"_gl— 5 e"_'_;l “_E‘_%j_:,ﬂ\:ﬁﬁﬁz
s o —1=(@—1) [P — (s + & Ha+1] - [o*— (& + &) z+1]
. [2®— (e_nil+e“&?)w+1]
=(z—1) (w2—2cos —2%":«:+1)<a;2—2c0s 4T?‘a:+1)---
-(a:2—2cos —(%)—”—w+1)
%o N EH

a"—1=(z+1) (2—1) [a:’-fZOOS %zp+1][:c?‘—2wcos é%+i]---[a;’—-2zcos ";1 7v+1 ]

e 7 @



16. RTFIL WAL LR,
f@) =2*+222+22+1, ¢g(@)=2*+2*+20+2+1
f#: RS (@), 9@ WBERAEK
9(@) =f(2) (e+1) +22*+22+2

f (@) = (204 22+2) ('%""""51?)

(f@), g(@)) =2"+a+1
e e, SIEY3E
17. B FHEARALERR,
1) f(a) =a®—Ba*+Ta*—227+40—8
2) f(z) =o*+4a®—40—3,
& 1) f(2) =2"—ba*+T2°— 24>+ 408,
ik (w)=5m‘—20§:3+'21m’44m+4 ; .
(Ff@), f @) =*—do+4, . f@OEEER
2) f(#) =o*+40*—4o—38 B8
f' () =4a®+8x—4—4 (& +25—1)
FR (@), F@) =1 "~ f@OBRAEER
18. 3R & {HfE f (0) =2°— 30+l —1 HEIR.
. . f@OFER, .. F@EF@EALR

BAFMN a, f(@)=0, f'(a)=0
P, ‘a®*—3a*+ta—1= R

- : 8a>—6a+1=0

@) xa— (1) 2a*—3a*+1=0
(a-1)*(a+1)=0, .. e-1ma=—%

$<80—8a%, . 7, emBE gm0

1
19. REWMRK o*+po+g AEBRKFME.
. oot tpotq “ERFETRAFEEZER)
bR—EM (2+a)’(@+d) =2*+prtqg
(@ +2az+a?) (x+b) =a*+po+q
o*+ (2a+b) 2+ (@®+2ad) v+ a*b =2+ pr+q
2a+b=0 b=—2a
2+ (@*—4a®) 2 —2a® =a®+po+q
p=—3d% g=—2a% p*=-—27d" ¢*=4a®
4p° = — 1084, 27¢*>—108a°
#HRE 4°+214=0,
20. M (z—1)2|A2*+Ba?+1 R A, B,
i f(@) =Az*+Ba®+1 .  (z—1)?| Az*+Ba+1
e« 8 o

(€Y)
2



@) =005 sl b0

{A+B+1=0 . A=1, B='—2.
4A+2B=0,
21. i L REHER.
i f(w)=1+x+—;%+---+'—:—:
0 % ¢2 @ xn—i ;
fl@) =1+o+5+ e
B ay f(a) BRI
, f(@)=0 f'(a)=0
1+a+2 +o +—--0 :
G”—l
1+G+ 21 + '+m=0
G £.u0 - (a0,
18.a=0 R f (@) % f' (@) ik
A 1+x+§+ +7”:,— FREFER,

2. MFa RS @M—4kER, EH o &

@) =EZ2 [ (@) + £ ()] —F (@) +1(a)
By —A G+ 3) TR
E o @)~k B
o @) =P (@) = e =D (g) =0,
i %9 (g) £0

gW)=3:ﬂ{f@®+f%®]—f@)+f@)#0

9'@) =5 LIf @) +7

@]1—f"()

9' (@) =— Lf' (@) +1 (@)]—f"(a) =0,

I @ =5 @+5 ﬂ@+w“ﬂ%)ﬂ@—”“ﬂ%)
L @=0 ¢ @) =5 @)+ GO @)
49 (@) =252 F49 (2) + 4 F4 (o)
97 (@) =g¥ (@) =2 =g*%'?(a) =0 _
910 @) =25 L @)+ EEL fr0 ) grn() —0+ EEL fren gy 0

og@) =g @=g"@)==¢g*@)=0 T g*()*0
ekt g(@) iy (B+3) ER. '



23. M. o & f(2) i b ERM TS DERME
S (@o) =f' (@) =+++=f*(20) =0 T [f*(20)#0,
iE: BEH

Bz & f(@) iy b BER

y f (@) = (@—=z0)* g(m) g(@0) #0
(@) =k(@—20)*g(x) + (@—20)*g' (@) .. f'(2o)=0
I (@) =k (k—1) (w—20)* g (2) +2k (x—20)*¢' (#) +¢" (&) (z—wo)"

. " (@o) =0

oD (@) = bt (0= 00) (@) + 0h-1+ k(o 20) g’ (&) + s - (6—20)°9" )

+ et (@—20) 'g* ()
* f(k_i)(’-v()):()
f® (@) =k1g(@) +oi-k! (2—20) g’ (@) + -+ (2—20) *g™ (2)
So % (o) =kl g (@) %0
o F(@o) =f(@o) =+ =F*P(20) =0 T A f* (@) %0

o
>4 F@o) =f' (o) =+ =f*0(20) =0
i1} S® (20) #0,

© (@) =0m R f(@) M, W oo f(@)r BER . (@) = (@—20)"9(2)
# >k W fP (@) =0(f EIE f" P (20) =0) 5RH4FE . rPk
& r<k, W FO @) #0 r<k
B fEE D (2o) 0 HRHEFE . rb Wr=k,
24. RBIUHANITE MR o 2 f' (@) B m ER, Bl o B f2) i m+1 AR,
Bign f@)=@-2)*+1
27 f'(2) =4(2—2)" iy 3 HIR ; vy
B2 7R (@—-2)*+1 KR, EAR 4 EiR.
25. EH: WMFE@—1)|f@), WA @ -1 |[f@@) -
HE: o' —1=(z—1) (z—8) (z—&7) - ( i

2%

H g=¢ *
‘ (@—1) |f@@ .. f@"=0, Bl f) =0
FlEHT=f () =f1)=0 *=0, 1, -, n—1)
R FE@RR (B=0, 1, 2, -, n—1)"
(2—6%) (@—eh)-(@—e D) [f(@) B (@~1)|f (")

2. EW. WA @ +o+1) |f2@) +af (o),
Wi @-D12@), G=D|f2). »
iE: (@t a+1) =(f+ 1~+*2/§¢ )(w+ 1“f” )
L Z1EVEE g £ o) efs @) R

s |0 o



f1[< —1+2\/‘3‘¢ )3]+ _1+2¢§¢ fa[( —1+2~/§‘i )3]=0

fl[( -1—2\/?5 )3]+ —1—J§‘¢ f,[( —1-2J§¢ )3]
gy o LR 1+“/_" fa(1) =0
—1—-/83%
2

0

I

Ly 4 fa(1) =0

S Ji1) =0, fa(1y=0
By (-1 |fi(®, (@-1)[fa(@).

27, RTFN LA A B,
1) 2*—62°+1b62—14
f#. 2°—62°+160—14= (2—2) (&~ 42+T) .. FERE2
2) 42*—T2*—bx—1 '
. 4a*—T2°—bor—1= (22+1) 22*—2*—8x—1) = 20+1)2(2*—2—1)
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